MTH 2395

Fall 2019

Homework 3

Due Thursday, 9/26 Name:
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b) Fortunately it need not be exact fs{ you to gofve it. Find the general solution of the above
equaﬁan.
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2) Show that the equation (x +sin y)dx+(xcos y —2y)dy =0 is exact and find its general
solution. Your solution will be implicit.
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3) a) Show that x’ydy — xy dx—x’y°dx = 0 is not exact.
(XN + xy2)dx — x*ydy =0
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b) Show that u(x,y) =

5 Is an integrating factor that makes the equation exact.
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c) Find the general solution. Express y as an explicit function of x.
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4) Solve the IVP y'+%y=x, y(1)=0.
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5) Solve the IVP ?}_ —(tanf)x =sint, x(0)=1.
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